SA-1 (CLASS.VII) T B/2016
SUBJECT : ENGLISH

Time : 3 hrs MM : 80

General Instructi'ans 2

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting,
Write the answers in complete seniences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow - (7)

The 137 km long eoastline of Gog on the golden Konkan coast of the Western Ghats
is along the Arabian Sea. This small former Portuguese cnclave is onc of India’s
most popular lourist spots. The name Goa is derived from the Konkani word ‘Govarn',
which means ‘a patch of tall grass’,

Once a great Hindo stronghold, Goa was a parl of the grand Mauryan Empire,
around the 3rd century B.C. Goa soon became the subject of dispute between the
Dutch, the English, the French and the Portuguese, all vying for its possession.
Ultimately, in 1510, the Portuguese conquered Goa, with Alfanso de Albucquergue
leading the invasion.

Goa is geographically divided mnto North and South Goa. Panaji, situated on the

- south bank of river Mandovi is (he capital of Goa state, Ten lans from Panaji is the

former Portuguese capital of old Goa, where it is worth spending a dav to see the old
churches and remains of the [ormer colony,

The beaches of North Goa are Miramar and Dona Paulg, Calangule, Baga, Anjuna
and Vagator,

Goa 1s also known for its varied culsing. Some of the specialities of Goan cuisine
include vindaloo, sorpotel and xaéuti. Besides this, Goa Is alse well-laown for prawns
«nd lobsters which come in various slzes, crabs, cashewnuls and feni.

October to March is considerad the best season to holiday in Goa. If you can tolerate
the soaring temperatures, April and May find Goa in 5 quiet lethargic inood with the
sea stll calm enough to swim in. More recently, Goa is being promoted us 2 IMONSN0ON
destination.

(@) . What is the location of Goa? (1)
(b)  Where is the name Goa derived from® (1)
(c)  Desceribe the cuisine of Goa. (2)
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(d) Namc the capilul of the Goa state. Where is it situated? " (L) °
(&) Complele the [ollowing senténces - (1)

In 1510, the Portuguese

()  Find the words [rom the passage which mean the sume us given below - (2x}4=1)
()  totake control of a place through force
(i) inactive, lazy and dull

kead the poem given below and answer the questions that follow . 16)

[ had gone a begging from door to door in ihe village patl,
When thy golden chariot appearcd in the distance

Like a gorgeous dream and I wondered

Who was this king ol all kings!

My hopes rose high and me thought

my evil days were at an end,

and | stood waiting for alms to be given unasled
and for wealth scattered on all sides in the dust.

The chariot stopped where [ stood.

Thy ¢lance fell on me

and thou camest down with a smilc

[ felt thal the luck of my life had come at last.

Then of a sudden thou didst hold out thy right hand
and say "what hast thou to give to me?”

Ah, what a highly jest was it

I was confused and stood undecided,

and then from my wallet [ slowly look out

the least little grain of corn and gave it to thee.

But how great my surprise when at the dug}"a% end
[ ecmptied my bag on the [loor to lind

a least little grain of gold among the poor heap.

[ bitterly wept and wished

that I had had the heart to give thee my all.

(a) Why did the speaker go lrom door to door? (1)
(b) Why did the speaker’'s hopes rise on seeing the golden chariot? (1)
(c) What dld the speaker take out {rom his wallet? (1)
(d) What did the speaker wish in the end? (1)
() What did the speaker find when he emptied his hag on the floor? (1)
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(33.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

) Find words from the poem which mean the samc as the tollowing ; (2xl4=1)
(i)  attractive (i)  eried
SECTION-B (WRITING)

Draw an attractive poster on spreadily awareness among the people onn dengue
prevention. (4)
Teacher's Day was organized by your school yesterday, Your best [riend could nol
attend it due to his/herillness. Write hj_n]’."h{jr A1 e-mail deﬁﬂfibiﬂg the fun youl had

and how much you and others missed him/her. (4)

You are Amrit/Amrita. Your younger sister is slaying in a hostel. Wriic a letter guiding
her about heallhy eating habits and telling her the importance of [ollowing a rontine
of meals. (63)

SECTION-C (GRAMMAR)

Fill in the blanks with suitable relative pronouns ' (4xlAa=2)
(a)  All the workers work in this factory det good wages.

(h)  The hoy ____is wearing a red shirt is my best friend.

(c) bag is lying under the table?

(d)  The car is parked near my house is very expensive.

Fill in the blanks with suitable determiners : (1xe=2)
(a) Give me _____water to wash the utensils.

(b)  Sonamate biscuits and lef( [or her interview.

() students partlicipated in the camel colour contest.

(d)  You can come on J_ = working day. .

Fill in the blanks with appropriate form of adverbs formed [rom the adjectives given

in the hrackets : - (4x146=2)
(a)  The teacher spoke very . (polite)

(b)  Siya entered the classroom . (happy)

(¢)  Some pcople are god gifted. They draw _. (beautiful)

(d) The beggar was _ deaf. (entire)

Complete these sentences by adding the correct question tags : (2x1=2)
(@) We will arrange all the books in correct order, 2 |

(b)  She is not coming (o the party, B

(C-3)



Q2.

:
/DPhrases g form eaningfy] Stntences (2x13
(a) cards / for / Shreyu / Diwalj / and candleg / making / js
(b) €xciting / reading /1 / am / book / Lhese days / gn
Q11 Replace the underlined wopq With adverhs (2x1=2
(&) My sIster joined tle academy wiih iy Agreement,
(b)  All the dancers g Kingdom of Dreame danced with g Int of enthusiasm
@12, Fill in the blanks with collective noypg : (2x1=1)
(a) Supriya forgot 1o buy the — —_ of grapeg from the market,
(b)  We attended a concert ang Appreciated the - — of singers Who performeq
bnlhdmly
Q13 Change the voice of {he 8IVen sentenceg and rewrite them : (3x1=3)
(a) My mother Prépared delicings des

ere decc'zral"ing the activity hall. (Fagsive voicg)
AnKs with the correct forms of ver

was (a)
schoo] [ was fully (

(d)‘ﬁ__ (&at)
(Scald)

bs given in (ha b1
Yesterday, it

(rain) heavily, When, I (b) — . (fetilin) from
— [drench) in Water, Degnite my mo(her

A ICe-crean; gand (&) _8et) fever, My mother (
e for my stupidity,

ackets - (Bxig=7)

_—

c)

S Warning, |

()
(B)

llllllllll

(7))



316,

Q17.

@18,

Q19.

Q20.

L1 L.

Answer the following questions in 30-40 words each ; (3%2=6)
(a) What did Mukul Sharma speak in his oath? Whom did he honour al the end?

(b) Describe the narrator's meeting with the district officer with reference to the
chapter The Undeserved Reward'.

(c) DBefore opening the vault, what strange request did Jimmy make and why?

]

Answer the following cuestions in 30-40 words ecacl : (2x2=4)

(1) Inthe poem, “The Cow and the Ass’ the cow changed her opinion. What led her
to do so?

()  Who was Lochinvar? Why did he go Lo Netherby Hall?
Answer the following question in 70-80 words : (1x4=4)
The poet in the poem, “The Cold Within' portrays a sad picture bul comes up with an
excellent message. Explain the message conveyed through the poem,

OR

The poem, ‘Lochinvar' ook a sudden twist towards the end when Ellen was going o
set married. Elucidate.

Answer the following question in 80-100 words ; [1:5=3)

‘Despite knowing everything aboul Jimmy's present and past life, Ben made a strange
decision and the story ended on a positive nate’. Explain the statement with reference
to the chapter ‘A Retrieved Relormation’,

OR

In the story, ‘The Attic’ Adilya was regretful of his past action. What did he do to
make up? Write a diary entry describing Aditya's [eelings.

Answer the following question in 30-40 words : (1x3=3)
Describe what Pip found when he returned from the town. Why did he suspect
Orlick? |

Answer the following question in 80-100 words : [1x5=5]

Describe Ms. [Havisham’'s character and also describe the house in which she was
living.

OR

Who met Pip in the churchyard and what did he ask for? Why didn't Pip cnjoy the
Christmas Party?

(C-5)
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SA-1 (CLASS-VIII) 9/2018
SUBJECT : MATHEMATICS

Time : 3 his MM : 80

General Instructions :

o,

Q10.

All questions are compiilsory.

Read all questions very carefully.
Questions 1 to 10 carry 1 mark each.
Questions 11 to 18 carry 2 marks each.
Questions 19 to 28 carry 3 matks each.
Questions 29 to 34 carry 4 marks each.

A card is drawn from a well shuffled pack of 52 playing
cards. Find (he probabilily of getting a face card.

How are prisms and cylinders alike?
Without adding, findthesumof | +3 +5+7 + 8 + 11
Write the lincar cquation for the given statement :

Seema thinks of a number. When she mulliplies it by 3
and then add 9, she gets 30.

Name the property used in

3 ['4 5] [3 4] (?- 5)
e | Wiy |0 i L Sal W) Ruaady " e
7 \a 3)7\779) (7" 3

Rectangle is a convex quadrilateral. Give reason.

How many diagonals does a regular hexagon has?

Wrile wwo rational numbers thal are ecqual Lo their
reeiprocals.

The prime factorisation of a numberis 2x 5% 5 % 5. Find
the smallest number by which ii should be divided (o
make it a perfect cube.

Find the mecasure of exterior angle of a regular polygon
of 1< sides.

(1)



0.1 L

Ql2.

Q13.

Q14.

(115,

Qle.

QL7

Q18.

. Using appropriate properties find £ *

Are the following numbers perlect square? Give reason.

(a) 505050 (b) 23453 -
. x+1 _3
Solve: = =g

Name the given figure. Also write
its number of faces, verlices and

e ges.

sanchit makes a cuboid of plasticine of sides 7em, 7em
and 2cm. How many such cuboids will be needed to form

a cube?

Find the smallest number which must be subtracted from
405 so as to get a perfect square,

Represent —5 on the number line.

Using Euler’s formula find the number of ver 'df*es for a
polyhedron whose number of faces and edges are 16 ard
42 respectively. |

The measures ol two fi-:nm; ent angles of & pdnﬂlela'ﬁ‘l AM
are in the ratio 2:3. Find the measure of each of the angles
of the parallelogram.

< s

5

i 2
_ i e e
5 11 5 5 11

The sum of three consecuiive multiples of 3 {s 225, Find

thc multiples.

- 11'1 a right angled triangle HI%C ZB=i90F, f\B 2dem and

BC = 10c¢m, find AC,

. Find the smallest number by which 675 must be miﬂtipliﬁd

to obtain a perfect cube,

3. Verify Euler's formula for a triangular prisme

2]



J24. A box contains 7 blue, 8 whitc and 5 black marbles, If a
marble is drawn at random from the box, what is the
probability that it will be (a) black? (1) nol black? (¢) green?

Q25, In the given figure both ABCD and PQRS are parallelograms.
Find the value of x.

=

Q26. Half of the group of children are playing in the park and
one fourth of them are busy in studies, The rest 9 are
doing yoga. Find the total number of childreq in the group.

(J27. The diven daia shows the distribution of weightls of 15
students of class VIII

Weight (nkg) | 4050 | 5060 | 6070 | 7050

Number of Sludents 10 22 10 3

Draw a histogram for the given data.

(328. Draw (he top view, fronl view and side view af the given

ficure.
=

| W | R

i
I




(329,

@31.

Find the eube root of
() 1728 by Prime Factorisation Methiod.
(b) 39304 by Estimation Method.

_ Solve the equation and check your result :

10%+ 7 =3%— 28

In a school. studenis of class 8 collected rupees 9216 to
give donation to an NGO working for the education of
poor children. If each studenl donated as many rupees

as (he number of students in class 8.
(a) Find the number of students.

(h)  Which value of students is depicted here?

032, The following data shows the overhead expenses il a

restaurani.
[tems Rent ~ Labour | Electricily Billing Dcc.ﬂ'r_
Amount (In %) | 10000 8000 4000 6000 3000
Draw a pie-chart to represent the above data.
=] 1
Q33. Find ten rational numbers hetween 3 and 1
Q34, 'CLULE is a rhombus. If CL = 5em, OF = 4em, QU = 3em

and ZECL = 120°, find the lollowing :
(a) Length of LU.

L

(b) Length of diagonal EL

() measureof ZJEQU

(d) measureof ZEUL.

Give reason for each part.
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§A-1 (CLASS-VIII) 9/2016
SUBJECT : INTEGRATED SCIENCE
Tice ¢ 2V2 hours MM : 80
General Instrictions ;
i}  This paper consists of three sections A, B and C.
ii] = Marks aré indicated against each questior.
jii) Draw nedt and well labelled diagrams wherever

required.
sECTION-A (PHYSICS)
Ql. Answerinone word or one scntence : (5x1=5)
(a) Give one similarity between magnetic forcc and
electrostatic force.

(h) Why can't the astronauts talk to each other on the
surface of moon?

() During the construction of a building. the lightning
conductor was lefl hanging in the air by mistake.
Would it still be effective? Why or why not?

(d) Whatis the lowesl frequency at which human beings
can hear sound? =

() The air around us exerts a lot of pressure om us.
Why do our bodies not feal that atmospheric
pressure?

Answer brieflly : (4x2=8)

(a) Anarcher shonts an arrow in the air horizontally.
However, after moving some distance, the arrow talls
to the pround. Name {he initial force that scis the
arrow in motion. Explain why the arrow ullimately
falls down.

(D
D

h) A butterfly [laps its wings al (e rate of 40 times in
4 seconds. Find ils time period and frequency of

vibration. :li

-

- =

(c) Lookat the given fisure and answer the
following gquestions .

(1) Name the point {rom which water
comes out with maximuin
pressure.

(1)



(ii) Name the point from which walel COVELS the
minimum distance.

=
£

Justify your cholces.

(d) Can you hear tlie sound of an approaching frain
long belore you s8¢ it by placing your ¢al on the
metal track? Explain.

Q3. Answer (he following . (3x3=9)
(a) (Givean example where :-

(i) aforcemovesa stationary body-
(i) = force changes the speed of @ moving body.
(iij) aforcechanges the direction of 2 MOVIng hody.

(h) Name the device which is used 1o test whether an
object 1s charged or niot. Also draw its well labelled
diagrain.

() Mr. David is the president of the Residents Wellare
Association of your localily, The residents olten
complain aboul mereasing noise pollution 1 the
locality. List any three measures that can he taken
{6 reduce this pollution.

Q4. Answer the following . (1xD=9)
Seismograph is a device (hat records the waves ol an
earthquake.

(a) Name the scale on which the inlensity ol an
t:arthqu:-il{e ean be measured.

b} Whatare scisiic zones? Cive exa mples of {wo areds
{hat lie in these ZONEes.

() Enlist two precautions that must be taken during
.n earthqualke il you are at home.

SECTION-B (CHEMISTRY)

Ql. Answcerin one word or ohe sentence ¢ach ! (5x1=5)

(a) XNisagas pmdutﬁd when dilute hydrochloric acid
i added to & reactive metal, dentily X, How call
the gas X be lested (or identification?

(2)



Q2.

&3

(b) Fossil huels should be conserved and used only when
sbsolulely necessary. GIve reasorn.
(¢) Name the following products of ¢oal -

(i) [t is an almost pure form of carbon and is
used in the oxtraclion of steel.

(ii) Ithasan unpleasant smell and {8 used 10 maulke
naphthalene balls.

(d) Complete the given equation
sulphur-di-oxide + WwAaler —3

==t

(e) Nitrogen: Rerfillser & o =0 antiseptic
Answer briefly © (4%2=8)
(a) Which physical propafty of metal correctly matches

with the use of following liems:

(i) aluminium foil (i) wire

(iij) electric switch (iv) school=bell

(b) A green layeris gradually formed on a copper plate
left exposed Lo alr for a week in a bathroom.

(i) What could this green substance he?

(i) Write an equation for the ahove change.
(¢) Giverecason: |

(i) Sodium metal is stored in kerosehe.

(i) Petroleum is also called ‘Black Gold'.

(d) Bohby saw #hal the street lights Were not switched
off one morning, He asked his father 1o call the
clectricity department Lo ask them to switch of f the
lights.

(1)  State the value shown by Bobhy.

(i) Which fuel was used lor street lighting n the
19th cenlury in New Vork and London? '
Answer the following - (A%3=9)

(a) Onaddinga piece of zinc metal lo a hlue-coloured

solulion of copper sulphate, Rahul observed that

the colour of the solution changed trom blue to
colourless.

3)



(i) Explain the change involved in thc diven
experiment. Write the wortd equation for i

(i) Namc the type of reaction involved.

(h) Coal is one of the earliest used fosf.:é:il fuels. With
reference to coal answer (he following questions -
(i)  Define carbonisation.
(ii) State two conditions required for {ormation
of coal.
(i) Wrile any two uses of coal,
(@) () Given below are examples of some clements.
Classify them as metals and non-metals.
Sulphur, Carbon, Oxygen, Aluminium
(1)  Reena collected a spoonful of rust and dissolved
it in a very little amount of water. She ohtained
2 solution which was then tested with red and
blue litmus paper. What did she observe?
Comment on the nature of the solution.
Q4. Answer the lollowing . (3)

Look at the figure given helow where petroleutn and natural
gas deposits are shown,

e

(@)

The process of separating various consttuents or
(ractions of petralenm is called *

(4)



(b)

Layer containing petroleum oil and gas is obtained
ahove that of water. Give reason.

Name the constituent of petroleum which is used
as d -

(i) solvent [or dry cleaning

(ii) ointment

Many useful substances are obtained from petroleum
and natural gas. What are these substances known
as?

In India, the Peiroleum Conservation Reseurch
Association advises people how to save petrol/ diesel
while driving. Write any two ips sugdested by PCRA.

SECTION-C (BIOLOGY)

Q1. Answer in one word or one sentence : (4x1=4]

(a)

()

Ireshly collected cow's milk spoils within a few hours
at room temperature but the milk packed in a
teirapack stays fresh for a longer period ol time.
Give reason.

‘A' and ‘B’ are two wildlife sanctuaries located in
the Pachmarhi Biosphere Reserve. Name A and B.

State one characteristic shown by amocha and
paramecium that classify them as an animal cell
and not a plant cell.

Why should we avoid standing closctoa tuberculosis
patient while he/she is coughing?

Q2. Answer briefly : (4x2=8)

(a)

Identily the following diseases and name the causative

organism of each : |

() It is spread by the bite of female Anopheles
masquito specially duringthe rainy season.

(i) It is spread through ait'or conlaminated water
and can be prevented by adminislering oral
drops of ils vaceine.

(5]



(h) "X are sfructures thal appear only at the time of
ol division in the cell. Name X and stlate its functien.

(¢)  Give rcason for the following : |
(i) Deforestation leads to floods.

(i) Recyceling of paper is benciiclal Lo Lthe
environimnent.

(d) Destruction of natural habilat, of animals has led
to the extinclion of animals so much so that our
national animal is also endangeied. Name the project
launched by the government to prevent their
extinction. Whal is the objective of this project?

Q3. Answer the following . (3x3=9)

(@) In the given diagram of the cell identify and label

the following parts :

i) 1am like a policeman. I do not allow anything
and everything to get in and out of the cell.

(i) Iaclasacontrol centre of cellular activities.

(i) Tam jelly like and various cell organclics are
prescnt in me.

(6)



(h) ‘Different shapes of the cells are relaled to their
specific functions’. Name and draw three lypes of
human cells to justify this statement.

() ()  Fill the missing steps in the given [low chart.

=

// Atmospheric Nitrogen |
L ~ N

il
\

Bacteria

Fix Nitrogen i _ ;
intg Nitroganous| Compound of -
compounds | |Nitrogen in the Soil

(i) Name any wo constituents of all living
organisms which have nitrogen as an important
component.

Q4. Answer the following - (B)
(3) Antibiolics are not elfeclve against diseascs like
chickenpox and common cold. Why? Name any Lwo
| antihiotics and write two precautions that should

e 1aken while taking antibiotics.
(D) " Kushal's family is happy as he has become a proud
father of a baby girl. In a routine visil 10 the hospital

he doctor advised him not to skip the vaccination
schediile.

(i) Whatisa vaccing?

(i) Why are children given vaccination?
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SUBJECT : SOCIAL SCIENCE

Time : 3 hrs MM : BO

General Instructions :

iii)

)

v)

Ql.

Questions carrying I mark should be answered

in one sentence.

Questions carrying 3 marks should be answerad
within 60-80 words.

Questions carrying 5 marks should be answered
within 80-100 words.

Attach the maps properly to the main sheet,

Multiple choice guestion is to be answered in the
answer sheet.

Clioose (he correct answer from the options siven below
each guestion [7x1=7)

()  ‘This young soldier of the British army was hanged
to death for attacking his officers in Barrackpore.
Name him.

(a) Sitaram Pandée (h) Nana Saheb
(¢) Mangal Pandey  (d) Peshwa Baji Rao

(i) Anopen prayer place of Muslims primarily meant
for 1d prayers is knownas _____ - SN
@a) Dargah (b) Khangah |
(c)  Idpah (d) Cul-de-sac

(i) ‘This ballle became the first major victory of the

Fast India Company in India’. Name it.
(a) Buxar (h) Plassey
(¢) Awadh (1) Hyderabad



(iv] Improving the qualily of people's skills so thl
they are able to create more resourcee is known
as

(a)  Progressive development
(b)  Investment
(c)  Sustainable development
(d) Human resource development
(v)] Which fue] js referred to as ‘Buried Sunshine'?
(a) Natural Gas (b)  Petroleum
(¢)  Coal (d) Kerosene
(vi) Which ammong the following rights prohibits human .
trafficking, forced labour and children working
under 14 years of age?
(&)  Right to Equality
(b)  Right to Freedom
(c)  Cultural and Educalional Riglits
(d)  Right against Exploitation

(vii) The act of breaking a law as well as the breach
or intringement of Fundamental Rights is lknown

as .
(&)  Acquil (b)  Appeal
(¢) Eviction (d) Violation

Q2. Answer the lollowing questions in one sentence each:
(10x1=10)
(1} Whao discovered the sca route to Indig?
(i) What'is meant by de-urbanisation?
(iii) Name the two architects who designed New Delhi.
(iv) Mention the main provigion of ‘Doctrine of Lapse'.

(2)



G

Q4.

s
(0.

Q7.
Q8.

(310,

Qll.
Q12.

(v) Enlist the [actors on which the development of

an aclual resource depends.

(vi) Whal is meant by resource conservation?

(vii] Which country is the leading producer of copper
in the world?

(viii) Whal do you mean by universal adult suffrage?

(ix) “This scheme was introduced by the governmert
lo ensure right to food among children’. Name
it.

(x) Who was the chairman of the drafting committee
of the Indian constitution?

Write a brief note on the administration of the East

India Comparny in India. (3)
Discuss the social and religious causes of the revoll
of 1857. (3)
How did partition affect life in Delhi®? (3)
‘The assumption ol Diwani benefitted the East India
company in many ways'. Discuss. (3)
Why do we need Lo conserve minerals? (3)

‘Resources can be classified into three broad categories'.
Explain. (3)
Dilferentiale between potential resources and actual
I'éSOUTCes. (&)
Write a short note on three organs of the government.

” (3)
What are the functions performed by Judiciary? (3)

“The Indian Parliament plays a key role in the
functioning of a democracy’. Explain. (3)

&)



213,
Ql4.

EAEE

Q16

Ql7,

3 18.

State the oulcomes of the Revalt of 1857, (5)

Distinguish between conventional and non-convention=|
sources ol energy. (5]
What is mecant by sustainable development? List the
principles of sustainable development. (1+4=5)

Explain the key features of the Indian Constitution,
(3)

(a) Whal is the composition of the Indian Parliament?
(b) How do elections of the Parliament take place?

(2+3=5)
Attempt the [ollowing maps :

(a) On the provided outline political map of India,
name and mark the following : - (4x1=4)

(i) Stale ruled by Tipu Sultan
(ii) An area conquered by Doclrine of lapse.
(i) Statc having dcposits ol gold in India.
(iv)] State having deposits of high grade iron-
ore.

(b)  On the provided outline political map of the world,
name aid mark the following : (dx1=4)
(i) Largest producer ol bauxite.
(i) First country to develop hydroelectricily.
(ii1) Comnlinent where slave frade began.

(iv) Portuguese basc in [ndia.

i
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SUBJECT : FRENCH

'Ifime-: 3 hrs MM : 80

General Instructioils :

(i)
(ii)
(iii)
(1v)

Ak

Al.l

Al.2

Al.5

Read all the questions carefully.

Number the answers as given in the guestion paper.

Write in a neat and clear handwriting.

Write the answers in complete seriiénces.
snCTION-A [COMPREHENSICN ECRITE!]

Lisez:

Moi. Je m'appelle Lisa. J'al 15 ans. J'ai appris 1a langue

frangaise. Maintenant, je travaille & l'école. Je parle [rancails

et anglais. J'aime vayager. Jaime conduire 1a voiture.

Ma copiné, Na’thﬁlic' alb ans aussi, Nous avons le méme

aoe. Avant, elle a travaillé au bureau. Maintenant, elle

ne travaille pas. Elle est aussi bilingue comme mol. Elle

parle italien el francais, Nous parlons {ran¢als ensemble.

Depuis 5 ans, olle habite 4 Paris. Mais. elle a decidé de

trouver l¢ travail en Inde. J’ attends Nathalie.

Mon copaiil, Marc habile 5 Paris, 11 a 16 ans. 1l parle

trois langues : francais, allemand et italien. Marc et Nathalie

parlent italien quand ils sont engemble, mais je nc

comprends pas! Done j& COmMmence 3 apprendre la langue

italienne at1ssi.

Repondez (Px1=2)
(a) Est-ceque Nathalie travaille maintenant?

(b) Lisa, quest-ce qu'clle aime faire?

Ferivez deux verbes au pnéﬂé compose avee ‘avoir’ du
texte : (2x1=C]
21 J— 1 =1 S :

Dites Vrai ou Faux: (4x1=4)

(a) Marc condulit sa voiture.

(1)



(b)  Lisa peut parler allemand.

(c) . Depuis 5 ans, Nathalie vit en France.

; AD.

(d) Avant, Nathalie a iravaillé dans un bureau.

- Lizez :

LInde est un beau pays (ré&s grand avec un climat varié.

C'est un pays riche en histoire et en littérature, Delhi est

la capitale de I'Inde. C'est une ville historique avec de
heaux monuments et jardins. La ville est rés grande et

-belle. L'Inde a 22 langues officielles. En Inde, il y a beaucoup

de lleuves et montagnes, Mumbai, Chennal, Delhi ete sont
d’ autres villes importantes d'Inde. Une autre ville en Inde
est Pondichéry. Nous parlons frangais a Pondichéry. C'est

_un petit élat dans le sud de I'Inde.

A2.1

A2.2
Ad.3

Bl,
B2,

B,

B4,

Dites Vrai ou Faux: (4x1=4)
(a) Delhi est la capitale de France.

(b) Inde est un pays riche en histoire,

(¢) Ilya plus de 20 langues officielles en Inde,

(d)  Pondichéry est une ville francaise.

Eerivez le contraire : (2x1=2)
(a) - petil # | (b) laide #
Nommez deux villes en Inde. (1)

SECTION-B [EXPRESSION ECRITE]
Nommez les cing pays francophones avec leurs capitales.

(3)
Vous invitez votre ami(e) pour votre anniversaire, Redigez
cette invitation (30 mots). ()

Vous avez des examens la semaine prochaine. Ecrivez
cing instructions gque vos parents vous disent. (Utilisez

I'impératif). i (5]
Faitles des phrascs : (bx1=5)
(a) télévision (h)  ¢eole |
(c)  organiser (d] pain

(e) acheter



T

C2.

C3.

C4.

SECTION-C (GRAMMAIRE)
Choisissez la bonne réponse : (10xYe=5)
(a) J'aime ______ (ses, mes, tes) meubles.
(b) .. .~ - (cerl, ce, cette) robe est belle.
- {e) Jeprépare ___{tous, tout, toutes) fes examens.
{d) U fautjeter - {cette, ces, cet) fleurs,
(e) Mets-Llu __ (cette, ces, ce) manteaux dans
(cette, ces, ce) armoire?
(f) tous, toute, tout) le monde entre dans cet
opéra.
(¢) Nous (lravaillons ____ (tout, tous, totite) la
journée.,
(1) Ils donnent (nos, vos, leurs) livres 4

(leur, notre, votre) copine.

Reliez les phrases en utilisant : (Bcl=5]
et, parce que, puis. ou, donc

(&) Je vals chez le médecin; j'ai de la figvre.

(b)  Voulez - vous du poulet; du mouton?

(¢) Elle aime nager; jouer au tennis.

(d)  Elle se réveille & sept heures; elle se brosse les dents.

(e} Iln'ya pas de viande; clle va a l1a houcherie.

Metiez les plirases au négatif . (3x1=3)

(@) Ce sont des travaux difficiles.

(h)  Vous rangez votre chambre.,

(¢) Nous allons finir ce travail a 6h.

Conjuguez les verbes au passé composé avec ‘avoir'.

(3x1=3)
(a) Elles______ leurtravail. (finir)
(b) Son grand-pére un vélo 4 Marie, (donner)
c) J un bon roman. (lire)
Changez ces phrases & 'impératif (3x1=3)

(a)  (écouter) tes professeurs,

(3)



Ce.

7.

C8.

C9.

Cla.

DI,

D2,

(b)  (élre) dans notre classe,

lc]  (savoir) bien vos lecons.

Mettez les phirases a I'interrogative avec I'inversion :
(3x1=3)

(a) - Tu as pris beaucoup d'argent.

(b)  Vous avez acheté des stylos.

() Il est allé au bureau,

Mettez au pluriel : (2x1=2)

(a) Je porie ma robe.

(b) Il a une maison blanche.

Ecrivez le participe passé du verbe : (4x14=2)
(a8) avoir = = (b) . wenirs
(¢) mettre = | (d) rester= B
Mellez les phrases en ordre (2x1=2)

(@) la / maison / Vous / a / étes
(bh) a/Ils / Rome / rentrent
Chassez I'intrus : (2x1=2)
(a)  mourir, aller, revenir, parler
(b) disons, dites, dire. dit
SECTION-D (LA CULTURE ET LA CIVILISATION)
Dites Vrai ou Faux : [Bx1=5] -
(@) Caroline vient de Belgique,
(b)  Elsa essale une jupe rouge et un t-ghirt.
(¢)  Francois a passé un week-end ma gnifique,
(d)  Aladin a un tigre.
(¢)  Le petit chaperon rouge a pris un pot de fromage, -
Choisissez la bonne réponse : (0x1=5) *
(2) John est glle au théaitre PO VOIr :

(il unc piéce (ii) un filin

(iii)  un jeu de role

(4)



(b)  Marie 5 apporté _ pour Denjs,
() unvesion (i)  une Imonire
(iii)  un vejg

() Patricig est le professeur de -

(i) musique () anglajs
(i) francais -

(d)  Paulinc 2 Iendu visite 3 ses grands-pareqntg :

i) aux champignons (i) au champagne

(ii) &l Campaghe

() La Maman d'Elsa paie par:

() lacarte (1) Largent liquide

(iif) e cheque
D3. Répondez ayyx questions - (2x1=2)
)  Quisauvels Blanche - Nejge?
(i) Quest-ce que Maman a fait'le matin dans |4 lecon
<<Mon dernjer week-endss?

D4, Reljez leg colonnes - (Gxlo=3)
A B
(&) Le petit chaperon fouge (1) yp pays
(b) Le mantegy (i) un conte
(€) Le Patequ (iii)  un vétement
(d) LaFrance (iv)] un annijversaire
(8)  noire (V] unverhe

(f)  aller (vi) une couleur

(3)
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§A-1 (CLASS-VIII) 8/2016

SUBJECT : COMPUTER SCIENCE
Ti..€ : 2 hrs " MM : b0
Q1. Choose the correct answer and wrile it in the answer
sheet: (6x1=06)

() Thisis not a container tag.
i)y <= (ii) <HR=
(iii) <Body> (iv) <font»

(h) Tag that hreaks the line and displays the text from
the next line.

(i) <BG> (i) <BK=
(i) <BR= (iv) <TR>

(¢) Itaclsasa central point ol connection for all the
computers on a wired network.

(i) Hub (ii) Protocol
(i) Network Card (iv) Network cable
(d) The computers that are connected to the scrver arc
called
(i) Nodes - (ii) Laplop
(iii) PC (iv) Tablets
() Yearin which blogger was launched.
(ij 19390 (i) 1999
(i) 1995 (iv) 1994
(f) Heis known a8 ihe ‘Father of the Internet.
(i) - SieveJobs (ii) = Vinton Gray
(iii) Bill Gates (iv) Narayan Murthy

Q2. Give one word answer for the following statements (8x1=8)

(a) Network architecture in which several compulers
are connected Lo the central sCIver.

(1)



Q3.

Q4.

Q5.

Name the attribute used with <HR> tag.

An example of plugin software used Lo play streaming
audio /video files.

“The protocol used to control the flow of information

and exchange hyperiexi over the internet.
Namie the attribule of <P> tag.

A computer network mainly created [or individual
DEersorn.

Name the most commoenly used network card.

nternet service throtigh which two users have
simultaneous video conversation.

Answer the following questions :

(a) Whatis HTML? (3)

(b) Explain the use of ‘Skype’ soflware. Mention the
basic requirements to use this software. (3)

(c) What is the use of <FONT= tag? Explain any two
attributes used with <font> tag. (2)

(d) List any three advantages of networking. (3)

(e)  Explain the components required to establish wireless
networking, (3)

Write a short note on . (4x2=8)

(a)  Peer to Peer Network

(b) MAN

(¢) Real Time Communication

(d) Container Tags

Expand the following (Ax1=4)

(@) TCP (b)  WAN

() URL (d) VOID



Q6. | DELHI - _Ox
DELHI - THE HEART OF INDIA

Delhi being the capital of the nation is a very special
city. Itis one of the most vibrant and happening cities

in the country.

It is known for ils -
Monuments
Food
Markets
Notes : | (7)

(a) Give the title as shown.

(b) Top mza.rgin chould be half inch, background colour
as green.

(c) Heading Delhi - The Heart of India’ should be of
Level 2. center. yellow and underlined.

(d) Paragraph should be in ‘Comic Sans MS' font and

red eolour.

() Thewords ‘Monumenls'. ‘Food and ‘Market should |

ke in blue colour and size 4.

Q7. Riya wants to setup her.own computer fraining institute.
She wants to connect all computers and printers to each
other using wires within her instifute. (2)
() Which type of networking cable and connectors will

she use?
(b) Name the type of network would be formed in doing

S0,
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is the Indian state which has the lowest literacy rate.
is the language which is spoken in Odisha.
is the highest court of justice in our country.
Huge masses of ice floating in a sea are called

is an animal which has the longest life span.

~ Malgudi Days is written by

In computer jargon, GIGO stands for

is the branch of physics that deals with properties of light.

UNICEF has its headquarters at

Q. 2 Identify the following and write the names:

a) Hindinovelist and short Stcry writer; pioneer of social novel in India; wrote mainiy about
the life of the peasants and lower muddle classes; Godan, Karamabhumt Seva Sadan are

his major novels.

invented the mobile phone.

(1xd=4)

b) Chief figure behind India’s missile programme; contributed substantially to the nuclear

tests conducted at Pokhran; honoured by Bharat Ratna in 199? the President of India
during 2002-2007.

E?a&:ﬂ%_ﬂfﬁi General meieﬁi;ge_' B SA L - Q-ﬁ%n*lﬁ |
Name: - MM : 20 T;me 1 h(}ur
- Q.1 Fill in the blanks: (1/2x10=5)
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¢) First Indian woman boxer to win a gold medal in the Asian games 2014; a bronze at the
London Olympics; only woman to win a medal in each :::f the six world championships;

recipient af Padma Bhushan.

- d)' One of the agencies of UNO that aims at helping nations to increase their food
production.

Q. 3 Write true or false: o (1/2x6=3)

a) Harappa is the important site of Indus Valley Civilization.

b) Equator is the site of zero meridian.
¢) The sum and the product of two odd numbers are always odd.

~d) Martin Luther King was the first black President of South Africa..
e) Carat is used to measure the weight of precious stones.
f) Asthma is a chest disease in which breathing is very difficult.

Q. 4 Solve the following: x et e

a) If MINISTER is written as 72423580 and COUNT is written as 16945, what word is written
as 50693803 ? |

b) Rearrange the letters of the word EARLY to make two new words?

¢) Find the next two terms of the series:
1 3 6 18 36
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CURRENT AFFAIRS g (1x5=5)

a) The first Children Gourt of South India has been launched in which Gity?

§oabbiod FRSEEILAE Ep LRI

b} Which country will be the focused country at the 2016 International Film Festival of India
(IFFI)? | |

¢) The Bharat Sanchar Nigam Limited (BSNL) has signed Mol with which technology giant
to offer telecom and IT solutions?

d) What is the India’s rank on the 2016 World Risk Index?

&) Which country will host the 19t South Asian Association for Regional Cooperation
(SAARC) summit 20167 |




